DAILY BASIS ASSIGNMENT 20

Date:12.05.2020 Class: VI Day:
TUESDAY

Subject : English
Complete the following sentences using the appropriate interrogative pronoun:

1. Of boy are you speaking?

a. which
b. who

c. what
d. whom

pen was stolen?

a. Who's
b. What
c. Whose
d. Who

, do you think, is the correct answer to this question?

a. Which
b. What

c. Whom
d. Where

4. With were you exchanging pleasantries?

a. which

b. what



c. where
d. whom
5. _____ did he come here for?
a. What
b. Which
c. Where

d. Whose

SUBJECT-MATHS

MULTIPLE CHOICE QUESTION
1) What should be added to 3.07 to get 3.5 ?
a) 0.57 b) 0.34 ¢) 0.43 d) 0.02
2)0.23x0.3=7?

a) 0.69 b) 6.9 ¢) 0.069 d) 6.9

3) 2.08 +0.16 =?

a) 13b) 0.13 ¢) 1.3d) 3.1
4)1.1x0.1x0.01=?

a) 0.011 b) 0.0011 c) 0.11 d) 1.001
5)1.007 - 0.7 =2

a) 1b) 0.37 ¢) 0.307 d) 30.7
SUBJECT - PHYSICS

MULTIPLE CHOICE QUESTION
1. Find the distance covered by a train moving with a speed of 72km/hr in 14hr.

a) 1080km b) 1008km c) 1800km d) 180km

2. A car is moving with a speed of 30km/hr .What is the distance covered by the car



in 10hr?.
a) 300km b) 3000km c) 3010km d) 350km

3. If the speed of a train is 110km/hr. Find the distance covered by it in 8hours
30minutes.

a) 935km b) 930km c) 903km d) 953km

4. An ant is moving with a speed of 0.5m/sec. Find the distance covered by the ant in
10 second.

a) 50m b) 5mc) 15m d) 10m

5. A boy is running with a speed of 2m/sec. Find the distance covered by the boy
after 2 minutes. Hint (1minutes=60seconds)

a) 204m b) 210m c) 240m d) 201m

SUBJECT : CHEMISTRY

MULTIPLE CHOICE QUESTION

1. Which of the following are neither acid nor base nor salt?
a) water

b) glucose

C) urea

d) all of these

2.Which of the following is colourless in acid solution?

a) turmeric

b) phenolphthalein

¢) china rose

d) litmus

3.The sharp pain caused due to the sting of an ant is due to the formation of __.
a) citric acid

b) lactic acid



c) formic acid

d) tartaric acid

4.Which of the following are known as laboratory acid?
a) hydrochloric acid

b) sulphuric acid

c)nitic acid

d)all of these

5.Which of the following is used in making storage batteries for cars, bus, trucks and
inverters?

a) sulphuric acid
b) nitric acid
¢) hydrochloric acid

d) all of these

SUBJECT: BIOLOGY
Multiple Choice questions

Fill in the blanks by correct choice:
1. A long tube running from mouth to anus in human body is called - .
a) Duct
b) Alimentary canal
c) Digestion tube
d) Food pipe
2. Starfish feeds on sea animals, which are covered by hard shells of -——

a) Zinc Sulphate



b) Calcium carbonate
c¢) Calcium hydroxide
d) Carbon
3. The food moves in alimentary canal by way of--—--—-------- .
a) Dialysis
b) Peristalsis
c) Synthesis
d) Absorption
4, —— is the digestive organ in human body.
a) Lungs
b) Kidney
c) Intestine
d) Muscles

5. Snakes are eaters.

a) Flesh
b) Fruits
c) Vegetables
d) All of these

SUBJECT-SST

Multiple Choice questions

1. Dandanayaka was a commander who belong to the

a. Royal family b. Kshatriya class c. Brahman d. Secular family
2. Mihir bhoja was the outstanding ruler of

a. Palas b. Rajputs c. Gurjara-Pratihara d. Cholas

3.Aritual called Hiranya-Garbha was performed by Rashtrakuta chief



a. Mayurasharman b. Harichandra c. Dantidurga d. Harsha
4. The outstanding ruler of the pratihara was

a. Mahendrapala b. Dharampala c. Nayabhatta d. Rajyapala
5. Who got the title of gangaikonda chola

a. Rajaraja-1b. Rajendra -1 c. Vijayalaya d. None of these

SUBJECT - COMPUTER

Q. Multiple choice questions (Select the correct one):-

6.Windows 7 is designed to

A. Sleep and resume faster B. Use up less memory

C.Recognize USB devices faster D. All of the above

7.Windows 7 is an Operating System launched by Microsoft in

A.2006 B.2009 C.2007 D.2008

8.Windows 7 Operating System is an upgrade from

A.Window 98 B.Window 2000 C.Window Millennium D.Window XP or Vista
9.Windows 7 new Aero Interface Features includes except

A.Aero Peek B.Aero Shake C.Aero task D.Aero Snap

10.Windows allows you to easily enlarge, hide, or shrink a window using
A.Minimize button B.Maximize button

C.Restore button D.All of the above
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DBA- Std-7 Sub- maths Date-12.5.2020

1)

2)

3)

4)

5)

What should be added to 3.07 to get 3.5 ?
a) 0.57b)0.34¢)0.43d)0.02
0.23x0.3="?
a) 0.69b)6.9c)0.069d)6.9
2.08 +0.16 =?
a) 13 b)0.13 ¢)1.3 d)3.1
1.1 x0.1x0.01=?
a) 0.011b)0.0011c)0.11d)1.001
1.007-0.7=7
a) 1 b)0.37c)0.307d)30.7
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